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CH- 11 ( AVERAGE )
WORD PROBLEMS :

1.FIND THE AVERAGE OF :
A.The age of four boys in a class are 10

Years 8 months, 11 year 6 months,
9years 7 months and 11 years 7 months.
Find their Average ?

B.The sum of 9numbers is 4284

What is the average of the numbers?

C. A city record a rainfall of 3.5 cms, 5.6
cms, 6.2cms, 4.8 cms,.7.7cms and
4.6cms in 6 months. What is the average

Monthly rainfall for 6 months .

D. The price of 5 books is £165.50,
X210.10 ,%X354.75,%180. 25,
X 321. 80. What is the average price of



Each book ?
E.In your school there are 256 students in.
F.Class 1, 309 students in class 2, 285 in

Class 3,365 inclass4,and 290 inclassv.
What is the average numbers of students in

Each class ?
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